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Guidance A i)

1. Read each question carefully before you begin answering it.
2. Check your answers seem right.
3. Always show your workings.
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01: We know, P(A)= P(ANB)/ P (B/A) and (5-points)
P(A) + P(B)= P(ANB)+ P(AUB)
If P(A) =0.3, PB/A) =0.7 and P(AUB) = 0.3 then find P(B)?




Q2: A fair dice is numbered from 1 to 6. The dice is rolled twice.
(a) Draw a sample space diagram to show the possible outcomes.

A

(2-points)

(b) Work out the probability that the number obtained on the first roll is more
than double the score on the second roll.

Q3: Arthur flips a coin and rolls an ordinary six sided dice.

(a) Complete the table to show all the possible outcomes.

1

2

3

4

5

Tails

T1

T2

Heads

(b) Find the probability of a tail and a 6.

(c) Find the probability of a head and a number greater than 2.

(d) Find the probability of a tail and a square number.

(3-points)

(2-points)



